T0500.t06 alpha

— = . EE . = B -5,27
== if:; ‘E_§§ EQ&?%? ST

KVKPTPQLLPPTERPMSPRSLPQSPTHRGFAYVLPQPVEGEVGPAAPGPA
— o o o o C

Sttt St S ey L 1 dr 1rds

E B IHSB IBSBEB IHSB SBHBSBSBE B E B EB ESB DSB

?C = .
E%§.§§ ‘%%ﬁgi%gg_?&g“"§ §8§§§§§§§-—*2§<'H
PPPVPTAVPTLCLPPEADAEPGRPKKRAHSLNRYAASDSEPERDELLVPA
— (@] (@] C
[Te) l\ [e)} C
S |ﬁ’|| Ll LIs 1] | SHE RN
HEBEIE B IB HB S B E HEH EB HSB H S E B H
2
! D
= = = B = E = == =
e o Ssstave. —mE_ e -ﬁ&ﬁgﬁ?ﬁsgé%g
AAGPYATVQRRVGRSHSVRAPAGADKNVNRSQSFAVRPRKKGPPPPPPKR
— (@] (@] (@] (@] C
— N ™ < L
AL L 5 L1l o 1 Ll & Ll A 1=
S BHAE B HDHEHE B S H EBE B E GDSB B E
2
1 2
§=g§2§§ — ~§§&§;§ == % H;« ————é ZEET LT T == ==_ ZéézE___ é§ %:EE
SSSALASANLADEPVPDAEPEDGLLGVRAQCRRASDLAGSVDTGSAGSVK
— () () () () C
O S (e}
L LLlo 1] L Ll > AR
A E B E H S B S B HBSERB H BSBEH B S B S E



